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= 2,800
< 420
Al 780
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= 560,000
= 84,000
Al 156,000
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= 560,000
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OQAH &8 & =2 HE 800,000
= 560,000
< 84,000
Al 156,000
SEsREU &4HIZ THAIE WHSA 30,000 0 30,000
401 AIEHI L 2 CHEI 30,000 0 30,000
01 A& Hl 30,000 0 30,000
OAlI&HI 30,000
EXNE 23 E==FH 614,375 2,853,000 AN2,238,625
S 398,250
Al 216,125
Oraidted 422 =3l 90,000 237,500 A 147,500
= 60,750
Al 29,250
401 Al HIZ 201 I 90,000 237,500 A 147,500
< 60,750
Al 29,250
01 A& HI 88,000 235,500 A 147,500
O, FX&E =4, JY=2 N 88,000
< 59,400
Al 28,600
03 A& =TI 2,000 2,000 0
OAIZ 2 HHI 2,000
< 1,350
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< 60,750
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osze4 88,000
= 59,400
Al 28,600
03 Al 20 HI 2,000 2,000 0
OAIZ S HHI 2,000
< 1,350
Al 650
Ao BEA MEE 252 AY 120,000 370,000 250,000
< 81,000
Al 39,000
402 BIZHXHZ 0| A 120,000 0 120,000
= 81,000
Al 39,000
01 RIZEAI=2E X 120,000 0 120,000
o522 AY(IS) 120,000
= 81,000
Al 39,000
ot=gl 384 E EXNY 80,000 131,000 251,000
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Al 26,000
401 Al HIZ 201 8] 80,000 131,000 251,000
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Al 26,000
01 A& HI 80,000 131,000 251,000
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O==0|% &X 50,000
& 33,750
Al 16,250
20tAl HEH JIE3 AIY 50,000 0 50,000
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Al 16,250
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01 QI2t X2 X 24,375 0 24,375
OBs2 A 24,375
SoKA EEXH| 511,705 486, 193 25,512
=S E4&d] Lerael 76,000 72,870 3,130
201 LBt | 40,700 35,470 5,230
01 AP 22| d| 31,400 32,170 ANT70
OJIOtE Al 22 L S3HEHAIE X2 o4
20,000& = 508 1,000
O23 M =280 AM X oA
20,000& = 1008 2,000
O23M 2& 2 1 2
20,000 = 20& 400
OQHIHEEHAH =2 4,500,000& * 13| 4,500
ORKA &8 S (HA) 9dX2
500,000& = 150CH 7,500
O2SIKN 222 FAald| 1,000
OSSKA et F oY 4,000 * 2,5008 10,000
OJIOFE AN SJAY EH s N2 =2
100,000 = 10¥ 1,000
O23M =8 HEZAIA ES2AE 23 £
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OFI - =& - HI(=HU, ddsSd =2
gl Z2UHE, MEH, =32 0lBULSR)
500,000& = 123 6,000
202 4 dl 13,300 15,400 A 2,100
01 = LH YI 13,300 15,400 A 2,100
OFsHeEZFEE R=& 3,500
O=sMAIEgE F=E Wl 2,100
OFsMEHEE dRF=E Wl 2,100
OHS22dEY RFT ol 4,200
OAMAEX 2elgd dRF=E Wl 1,400
203 YR =&l 12,000 12,000 0
03 AIHZ=XH R =AH| 12,000 12,000 0
OJIOtG AL S& & 2XNE2s M E+=FH|
22 =4 10,000
OZXNZEEZsM B3l & A2 23M F
HEH YRF=AH 2,000
401 Al HI L 2T 10,000 10,000 0
01 A& HI 10,000 10,000 0
O=ZstM =8 &3 FH 10,000
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401 Al& I 28I 43,000 43,000 0
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O2nl 23 E=FHISA
10,000,000& * 4JH A& 40,000
03 Al 2 THHI 3,000 3,000 0
OAL72 23 M E=FH S A AIE&RUHI 3,000
AZ 2el 362,705 328,323 34,382
101 14l 202,053 172,125 29,928
4 D12t ZE2XREES 202,053 172,125 29,928
OAEX &3 3H 2 147,566
-JlE= 39,390& = 159 » 180¢ 106,353
- =x==g 39,390& ~ 159¥ » 36 21,271
PN = 39,390& = 159 » 9 5,318
-5l E&8= 132,942,000 * 11% 14,624
OAEX Letate] ey 54,487
-Jl2s 54,5403 * 4% x 180 39,269
- F=x==g 54,5403 * 4% » 36 7,854
P = 54,5403 * 48 x 9« 1,964
-5l E82 49,087,000& = 11% 5,400
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B2 F I 106,852
AtS 22l 27,592
OflgEE 2R+ AMY 7Y
15,0003 » 20<FA 300
oMgllEs& ¢ 3,700& * 3% = 365¢ 4,052
Ozad 835 7¢ 10,690
- NZH, B+ S 930,000& * 62 5,580
-StEX(HEE) 7
2,000& = 70 = 365¢ 5,110
O7s%4s ¢ 50,000& * 34 * 23] 300
OtEr=EZ 15,000& * 28 = 12& 360
Oul=l 150,000& » 29H 300
OAEZIl el 2FX A 2,070
OALE Xl et & 23 M 100& = 20, 00004 2,000
ORI OHAIAE 22| 370,000& = 12& 4,440
O&=J AIBZ 45,000& = 200 » 12& 1,080
OsJl gxz 500,000& * 43| 2,000
23224l 79,260
OfRdYs =42 10,0003 = 3CH » 123 360
O&II3 2,000,000& * 12& 24,000
OHdt=ER3 1,100,000& = 12& 13,200
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OXg =Xl 100,000& * 1CH = 123 1,200
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OAdE etliE M 1,000,000& * 30 A 3,000
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—Ar2t EHX BIX WX
2,500,000& * 10024 2,500
—20ls MHAE BX WA  500,000& * 54 2,500
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2,000,000& * 14l 2,000
OWMsSHAIZ A4 &4 500,000& = 43| 2,000
OAstd B B 2 MIAE =
500,000& = 7CH 3,500
OLAZ2AIE | 2,000,000 * 33l 6,000
OM=&tl =&l 1,600
- S84 ORI 500,000& = 13l 500
-=3g &0 300,000& * 23 600
-W=J = 100,000& * 504 500
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OO0AF 2 Y 250,000& * 63l 1,500
Oastl +¢ 30,000& = 20CH 600
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01 MHZ 4l 28,000 25,545 2,455
Ogsdl gME 435 7 3,000
o&tE M=HM 7¢ 3,500,000& = 23] 7,000
Ooxzd& 2%¥ ¢ 1,500& +3,000=F 4,500
O=&8 MM & XM 2
500,000& = 123 6,000
OFIIANE A28 ¢ TN 7
500,000& = 123 6,000
oxzd& MM(X==) 72  3,000& » 50004 1,500
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01 A& HI 15,000 0 15,000
Ox=228 XE3A 15,000
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8,000,000& = 1CH 8,000
ogdll =g 700,000& « 1CH 700
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700,000& * 2CH 1,400
O=s8 LRI P2 700,000& * 1CH 700
Zolg8 =2 2l 30,000 20,000 10,000
401 AIEHI L 2 CHYI 30,000 20,000 10,000
01 A& HI 30,000 20,000 10,000
Ozdigd =2 RANE=x 30,000
AAEZE XRQ 2E=3F} 150,000 144,300 5,700
22 St MEZE 22| 150,000 144,300 5,700
101 @124l 30,000 0 30,000
04 JIZHHNZ22XNHSE+ 30,000 0 30,000
ORZMWE =e2lel 21AHl 1,500,000 » 12& 18,000
O 28 o1Addl  1,000,000& 123 12,000
201 Let24E] 10,000 0 10,000
01 At 22l 10,000 0 10,000
Os=2s 10,000
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T REISMN L NSSSHEA XA 163,200 71,200 92,000
= 117,700
Al 45,500
307 QI2t01 ™ 163,200 71,200 92,000
< 117,700
Al 45,500
02 QI2t3 A X 163,200 71,200 92,000
Ox=2d & 8 A 14,000,000& * 23] 28,000
o= 8,000
Al 20,000
O&n E=EsuWas 29| 4,000,000& * 23] 8,000
== 4,000
Al 4,000
O RPE2M JIsESA 8&50=H|
800,000& * 1¥ » 12& 9,600
== 4,800
Al 4,800
Ok LE2SM JIsESA 8 851 F|
350,000& * 1¥ = 12& 4,200
[ 2,100
Al 2,100
OF PERSIM EQHH 8=
1,800,000& * 43| 7,200
== 3,600
Al 3,600
O PE23IMH ZIHE A
1,100,000& * 23| 2,200
[ 2,200
O HESHHSAL(SYDILH, XY
aAx ) 10,000
& 5,000
Al 5,000
ORE2e M (EtAcina 29) dsstny 29
Hi 2,000
& 1,000
Al 1,000
O=s4dd Hd 8&EE2E E2Ag K& 92,000
—-=MMX H& 50,000
== 50,000
-=H&d& M ovD H & 29,000
o= 29,000
-=&& Hel st2= M& 6,000
== 3,000
Al 3,000




2N
X ZH -
L= B

el

23
AA 2R BEEN BS
S22 B2E ¥ S

SN HH-S(BN) - MBAY - B il HlnE2
“NEI (2228 - +22H3) 32U o
S M 7,000
< 5,000
Al 2,000
ds2s BEEHHM & dSHA X2 85,100 71,100 14,000
= 2,000
Al 83,100
307 glz2+ol & 82,100 71,100 11,000
2 2,000
Al 80,100
02 QIZtFAB X 82,100 71,100 11,000
Ogw =.F8 HMdl 3,000,000& * 23] 6,000
O&4tol E Hialbl 1,000,000& * 13 1,000
OAtE &t Hidlbl 1,500,000 = 13l 1,500
O S A Ml 1,000,000& * 13l 1,000
Ot =& Hdbl 1,000,000& * 13l 1,000
OHFEM Myl 1,000,000& * 13l 1,000
Os92 Hdtl 1,000,000& * 13l 1,000
Oguw |u w=sHl XA 4,000,000& = 23l 8,000
OZL 648 2 HEURcs DY N
3,500,000& * 23] 7,000
Ogw 294l XA 2,500,000 * 23] 5,000
Ogw Jl2d J=bl X2  4,000,000& * 13 4,000
Ox228 sdd 224l XA
2,500,000& * 42 10,000
OArS & 2teldl XI& 4,500,000& * 23l 9,000
OZ 4T Mt 1,000,000& = 13l 1,000
OMZ 2= €2 2eld X3
1,500,000& * 23] 3,000
Ol 22t XA 300,000& = 123 3,600
OZE=S N &dltl 1,000,000& * 13l 1,000
OSN3 2ZH XI& 1,750,000& * 43| 7,000
OdEM& Hdlbl XI& 1,500,000 *6H 2 9,000
OXH A EHAH(OIBUS SH) X 2,000
= 2,000
402 2I2H X201 M 3,000 0 3,000
01 22t 2E X 3,000 0 3,000
Ogw ¢ - &) XA 3,000,000 = 1CH 3,000
HdSMEEEFZHALS 813,000 500,000 313,000
= 330,000
= 198,750
Al 284,250
401 Al& Bl & 28I 103,000 0 103,000
01 Al&H 100,000 0 100,000




M 23
M AN BIR4 BEWL EE
oo MERH BE U MB (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
OZe 42 A= FJl 20,000
OPHY gx2 A 80,000
03 Al S THHI 3,000 0 3,000
ONSAE BEZEEHIALE AIE 20 3,000
402 RI2HXt20l M 710,000 500,000 210,000
= 330,000
< 198,750
Al 181,250
01 2I2tX2E X 710,000 500,000 210,000
O QA H= 160,000
= 80,000
< 40,000
Al 40,000
ozeg 242 A S & FEFH| 100,000
= 50,000
< 25,000
Al 25,000
O20tAF ETHAIAE 25 200,000
= 100,000
< 50,000
Al 50,000
O206tAt &g (A SH= 200,000
= 100,000
< 50,000
Al 50,000
O&mg tEEH 50,000
< 33,750
Al 16,250
HE2AZH (23 297,006 254,668 42,338
23l 208,700 150,248 58,452
224l 208,700 150,248 58,452
101 @124l 208,700 150,248 58,452
03 RIHAZ 22+ 208,700 150,248 58,452
OXzgsdgg oy 26,393
-Ji22 1,028,000& » 1H » 128 12,336
-Jlz=g 1,028,000 » 1H * 43 4,112
220143
1,028,000 * 24% » 1F = 12& 2,961
-IE=g 60,000& = 1% = 123 720
-2 E 58,7453% * 1H * 10& 588
-zn2R4+Y
11,0158 = 10AI2H » 18 = 128 1,322
- Mg A 130,000& » 19¥ » 128 1,560
—usE2xY| 130,000& » 1H » 128 1,560
- Y EFOHI 1,028,000& * 1.2 = 1H 1,234
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SN 23
M HH2AZH (S )
chel: oIz gyl EREED)
SN FE - EA(SA) - MRAY - BES il Bl RE2
ogtsa RIIHA2Z2X E= 78,092
-Jl2= 1,133,250& » 298 128 27,198
-Jlg=¢ 1,133,250 * 2% * 43| 9,066
=t ) P = 113,320& » 29 » 128 2,720
-IE=4 60,000& * 12& 720
-2 57,668& * 2H * 10& 1,154
-zR2R4Y
10,813& * 55A12 » 28 » 12& 14,274
- ZAUg Al 130,000& * 29 » 123 3,120
-~ WS X 130,000& » 2H » 12& 3,120
- Y EFOHI 680,000& = 23| * 29H 2,720
= 7,000,000& = 29 14,000
OMAEX RIIHA2Z2X E= 104,215
-J22 1,133,250& » 3H » 128 40,797
-J|Z=¢ 1,133,250& » 3FH * 43 13,599
- 23 79,320 * 3% « 7& 1,666
-JIExg 60,000& ~ 123 720
—HENS
1,472,570 /209 » 8AIZt = 3H * 12& 2,030
- ZU2RE
1,472,570 /209 * 1.5 » 55AI2F = 3H «* 1 20,926
23
- Z A S A 130,000& * 3% » 128 4,680
- WE 22Xl 130,000& » 3% = 12E 4,680
- EZF0tl 680,000& = 23| » 3Y 4,080
- I =4l 250,000& = 39 750
-—ag2 3,429,000& » 39H 10,287
24l 88,306 104,420 A16,114
=&l 88,306 104,420 A16,114
201 et2 Y| 32,746 40,940 ~8,194
01 At 22l 8l 32,746 34,940 A2,194
OJI=ARESE el 6,480
OJIEt==EH| 3,456
OAMBI1JI 228 #2 ¥ =2/l 7,560
O=AEXN ¢ 2,250
oozt & FL2 2L 24l 13,000
202 (44l 50,160 58,080 AT7,920
01 S LHOIYI 50,160 58,080 AT,920
OunxsE JIE2g FIoH
220,000& » 1998 » 128 50,160
203 YR =&t 4,200 4,200 0
04 EASIYRFLEH| 4,200 4,200 0




o o o o o o
o o o o o
S|sl=|e|S
A ||
Klo
E
E=]
m w o o () (@)
NN
WH3r
i
RS
o o o o o o o (e} o o
o o o o o o o o o o
I R s N E=N E=N =T R~ =]
sl ol 221zl =
aor
<
(=
o o oM
x x —lm_
oir a ol ol
X0 o ) 410
=V IS S G
a |3 S a
e E
IA j—
o+ " a
r o <
< B EN
. _J_G ~
— _ no =
= 5 Ky v
o = H o0y
o %0 M 2 o
oF < = KT i
il o H ™
30 = i T W
- M = e H &
] AR5 nl®l. 8
RO Rr o w | = < O
: ) — | = S
g Eo R | ™
2 o= | o
k oF | M




